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Z4EMEF: To solve this problem, the government need to enhance publicity, thereby informing citizens how to exploit

resources effectively.

ERH government needFiBF—3; #fSthereby doing REER, MZEBN, BHIFEETAEN.

#2FEF: To solve this problem, the government needs to launch

TEXHERIRE FiE BEE

more awareness campaigns to educate the public to use resources more efficiently.
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ZEMEF: To solve this question, governments need to make the laws to control some unhealthy habits.
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#2708 F: To solve this problem, governments need to make laws to curb unhealthy
TEAHERE FE BEE EE  AEAnsiiE

habits.




